
Soustraction Avec Des Zéros (I)Calculez la différence.
100 100 100 100- 50 - 59 - 94 - 19
100 100 100 100- 25 - 13 - 100 - 98
100 100 100 100- 98 - 56 - 51 - 97
100 100 100 100- 48 - 10 - 2 - 24
100 100 100 100- 66 - 33 - 97 - 75
100 100 100 100- 94 - 83 - 97 - 56
100 100 100 100- 39 - 90 - 68 - 24
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Soustraction Avec Des Zéros (I) RéponsesCalculez la différence.
100 100 100 100- 50 - 59 - 94 - 1950 41 6 81100 100 100 100- 25 - 13 - 100 - 9875 87 0 2100 100 100 100- 98 - 56 - 51 - 972 44 49 3100 100 100 100- 48 - 10 - 2 - 2452 90 98 76100 100 100 100- 66 - 33 - 97 - 7534 67 3 25100 100 100 100- 94 - 83 - 97 - 566 17 3 44100 100 100 100- 39 - 90 - 68 - 2461 10 32 76
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